T

ot

V3=a, Vi=bzt T W, 3V7+ V3-4V7-5V3 & 7tt3]
a, b 2 YERJHA?

D —4da-b @ —da+b ® 4a-5b

@ 4a-b ® 4a+3b



@ V50+3V2=5v2+3v2=5V5+8V2
®@_\/§_2«/6_x/§x«/§_2«/6 V6 2v6
3 3° 3 3xv3 3 3 3
® 3VI12-4V3=8V3
6
@ ‘/3_—@:\/5

® VI2+ VI8 —4V2=2V3+52




6(V2+ V3) 2V2T- VI o yohg g

V3 V3

® 2-4v6 @ 3-3V6 @ 2V6-1
@ 36 ® 4v6
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3(3-av2) - V3(aV3 -2+6) & 7tets| o

She frel4 a o g FohE?

@ 2 @ -2 ® 3
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V- VB Va3

O V3 @ 23 ® 5 @ 25 ® 215



Ge ads gol Welst #47
2cm?, 8cm?, 18cm? ¢l AALZE R oF
o HFol2 BT oln, o] AFolz

18cm?

olFolzl =g o] o] dole? !

@ 2+7cm @ 8+Tcm ® 14v2cm
@ 18+v2cm ® 20v2cm
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3<Vx<4E

o3
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P o
=7

@ 9

® 10



oS B AlETRe] R Eolt o3 5 % BE o|goto] 1
2 AT 5 gle A2
4= 0 1 2 3
2.6 1.612 1.616 1.619 1.622
2.7 1.643 1.646 1.649 1.652
2.8 1.673 1.676 1.679 1.682
2.9 1,703 1.706 1.709 1.712
@ v2.60 @ V2.712
® V291 @ 2.61- v2.94

® V2.83+ v2.70



THOA V3 =1.7320|t})

ol
1=}

®1

@0



D 1+2V3
@ 5+ V3

@ 3+ V3
® 3+2V3

g 2a-b 9 S

® 4+ V3



11. N—?W— \/§+1—21\/5:A\/§+B\/6°]*§%§-}'1H,A—394

o7 (¢ A, B = 5ot}

@9 @ -9 ® 3 @ -3 ® o0



12, o 1] Fold 28 AL BT nEw?

@ V10— V45 + V40 = -5 + 310
O V24+ VB4 + V27— VI2=5V6+ V3

© VIS- 8+ VIS VI2= V2423
3 28

@G Vs PV
@ VRO- VI0- 2 — v
N

60,60 206 006 ®ooe 066
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15.

TR0 fstE o]-goto] thE-g ALteH?
LS SRR S
1+vV2 V24 V3 3+ Vi Vi+ 5

® -1 @ 0 @1
@ 5 ® V5-1



16. the 28T 2 AguA 0] Byl

@ 12+6V11
® 14+ 6V15
® 18+ 6V15

@ 14+6+V11
@ 16 +6V15




17. o= Al =+ A, B, C o Ha BAE F5k2 oot o
TAE Uetd Zez S9 A5 BF =217

lleS
ol

A=V5+V3,B=V5+1,C=3+ 13

® A<B @ A>B ® A<C

@ C<B<A ® B<A<C

P



18. o2 AlEZENA V5849 gHe aoli, Vb =2352 2 W, a+b 9
A2

T 0 1 2 3 4

5.0 | 2,345 | 2,347 | 2,349 | 2,352 | 2,354
5.6 12,366 | 2369|2371 (2373 | 2,375
5.7 12,387 12,390 | 2,392 | 2,394 | 2,396
5.8 12.408 | 2.410 | 2.412 | 2,415 | 2.417

@© 7.217 @ 7.548 ® 7.947 @ 8.132 ® 8.492



19. AFTEANA V2 = 1414, V6 = 2.449 & o, 0.02 + v0.06 2]
=5

O 3.863 @ 38.63 ® 386.3

@ 0.3863 ® 0.03863



20. V7 O A4 HEE a VIT O] 2% HESpHR T W, ab O G2
oty

O V119-3V7-2V17+8 @ V1194 3V7-2V17+8
® VIIO+3Vi+2VIT+8 @ VI19-4V7-2VI7+38
® VI19-4V7T+2V17T+8



